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TH HE—HEIM Bk Bk & R

d— VR LRV I DES

& Az & 4 OUT | IN |TOTAL| HDCP NET
B B MR R 39 | 39 | 78 13 65
AN =B 39 | 37 | 76 | 10 66
3 fir MER 2B+ | 37 | 39 | 76 10 66
4 {7 A 15 34 | 37 71 4 67
5 fif HIE 35 | 42 | 77 | 10 67
B-G A I5 34 | 37 71
TH HE—RAPIM A KRR & K
T —  FRIADE

& Az & 4 OUT | IN |TOTAL| HDCP NET
# B KE =2 36 | 40 | 76 8 68
HEE S WROR e 37 | 40 77 8 69
3 fir A F5 37 | 37 | 74 3 71
4 L F oA AN 39 | 41 80 8 72
5 fir AT 43 | 41 | 84 12 72
B-G A F5 37 | 37 | 74

BF3FETH4H
& Az & 4 ouT IN [TOTAL| HDCP NET
B B CLSETEES 45 | 40 | 85 17 68
YEE S TR BB 42 | 45 87 17 70
3 fir I S 46 | 47 | 93 | 23 70
4 fr 5l 3 43 | 44 | 87 16 71
5 fir ART IE& 45 | 45 | 90 17 73
B-G LTS 45 | 40 | 85
TH HE—APIM Bk B B F
T — KT ADH

& Az & 4 ouT IN [TOTAL| HDCP NET
B B SEH B AR 42 | 44 | 86 16 70
AN I iz 51 | 44 | 95 | 25 70
3 fi THE K 43 | 45 | 88 17 71
4 {7 %50 5] 44 | 45 89 18 71
5 fir BXK IE1R 44 | 48 92 19 73
B-G SEH B AR 42 | 44 | 86
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